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 CHAPTER 



    
Ex.1 PQ = 8.4 

Sol.  : 
I : 

PQ = 8.4 cm 
II : P PQ 

PQ 

III : Q 
L M 

IV : L M 

M 

L 

P Q 8.4cm 


  

Ex.2 78º 
39º 

Sol.  
I : OA 
II : AOB 78º 

III : O OA 
OB  P Q 

IV : P 2
1  (PQ) 

V : 
Q R 

O

B

Q R 
x 

P A 
78° 

VI : O R 
OX 
AOX 39°   

: AOX  BOX 
39º 
AOX = BOX = 39°. 

Ex.3 128º 
96º 

Sol.  
B
Q

O P A 

R 
X Y 

T
96°

128° 

S 



I : AOB = 128º 

II : O 
OA OB 

P Q 
III : P 2

1  (PQ) 

IV : Q III

R 
 V : O R 

OX AOX = 



2

º128 =64º 

VI : S ( OX, PQ 
) 2

1 (QS) 

VII : Q 

T 

R
Q

O P A
VIII : O T OY 

 XOY = 2
1 XOB = 2

1 (64º) = 32º. 
 AOT = AOX + XOY = 64º + 32º = 96º 

, AOY 
: AOX, XOY  AOY 

AOY = 96º 


 

60º, 30º, 90º, 45º 
120º 

(i) 60º 

: 

R 
Q

O P A 

I : OA 
II : O 

OX P 
III : P 

PQ R 

IV : O R OB 

AOB = 60º 
: P R 

OPR ,  
OP = OR = PR  
 OPR 
 POR = 60º 
 AOB = 60º      [POR = AOB] 

(ii) 30º 
B

Q

O P A 

R C 



I : AOB = 60º 

II : O OA 
OB P Q 

III : P 2
1 (PQ), 

AOB 
IV : Q 

-III 
R 

V : O R C 
VI : AOC = 30º 

(iii) 90º 

O P A 

R 
B
C 

Q

 

I : OA 
II : O 

OA P 
III : P II 

Q 
IV : Q 

2 
R 
V : Q 
VI : R 5 

B 
VII : OB C 

AOC 90º 

(iv) 45º 

O A 

B C 
Q
45°

 

I : AOB = 90º 

II : AOB OC 
AOC 

(v) 120º 

A 
120º
O P

Q 
C 
R 

I : OA 
II : O 

OA P 
III : P 
II Q 
IV : Q 

-II R 
V : O R C 

AOC 120º 

 (i) : 

I : A AX 
II : A 

BY AX B 

III : B 
BY C 



IV : AC BC 

A XB

C Y 

 
(ii) 

  
Ex.4 ABC 

AB = 5.8cm,  BC + CA = 8.4 cm 
B = 60º  

Sol.  

A 60º B5.8cm 
C 

D X 

8.4cm

 

I : AB = 5.8 cm 
II : ABX = 60º 

 III : B BX 
BD = BC + CA = 8.4 cm 
IV : A D 
V : AD 

BD C 
VI : A C 

Ex.5 ABC
BC = 3.8cm, B = 45º and AB + AC = 6.8 cm 

Sol.  

C 

D X

B

A 

3.8 cm 
45º

6.8 c
m

 

I : BC = 3.8 cm 
II : CBX = 45º 

III : B BX 
BD = AB + AC = 6.8 cm. 

IV : C D 
V : CD 
BD A 
VI : C A 

(iii) 

(1) :  A = 30º,   AC – BC = 2.5 
(2) : A = 30º, BC – AC = 2.5  

   
Ex.6 ABC 

AB = 5 cm, A = 30º  AC – BC = 2.5 cm 

Sol.  
C X

BA 

D
30º

5 cm 
2.5cm

 



I : AB = 5 cm  
II : BAX = 30º 
III : A AX AD = AC – BC 

2.5 cm 
AD = 2.5 cm (= AC – BC). 

IV : B D 
V : BD 

AX C 
VI : B C 

ABC 
Ex.7 ABC 

BC = 5.7 cm, B = 45º, AB – AC = 3 cm. 
Sol.  

C 
45º

B 5.7cm 

D

A X

3.0 c
m

I : BC = 5.7 cm 
II : CBX = 45º 
III : B BX 

BD = 3 cm (AB – AC) 
IV : C D 
V : CD BX 
A 
VI : C A 

Ex.8 ABC 
BC = 5.6 cm, AC – AB = 1.6 cm 
B = 45º 

Sol.  

45º

A 
X

5.6 cm C 
D

B

x
I : BC = 5.6 cm 
II : B , CBX = 45º 
III : XB X
XBX

IV : BX BD = 1.6 cm 
V :  C D 
VI : CD 

BX A 
VII : C A 

:  A, CD 

 AC = AD = AB + DB = AB + 1.6 
, ABC 

(iv) 
: 

 
Ex.9 PQR 

14 cm, P = 45º Q = 60º 
Sol.  

ED

R 

Q YX P45º 60º



I : XY = 14 cm 
II : YXD = P = 45º 

XYE = Q = 60º 
III : YXD XYE 

R 

IV : RX RY 
XY P 

 Q 
V : P R Q R 

PQR 




